Monday 18t™ January

Multiply fractions by integers

Watch the video link and answer the following questions

https://vimeo.com/475426110



https://vimeo.com/475426110

Multiply fractions by integers

o Complete the calculations.

a)

b)

o a) Shﬂdethehﬂrrrmdelstoshuw%:al

b) Complete the multiplication.

%:4:

o Complete the calculations.
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Whaot patterns do you notice?

o Complete the multiplication.

2%:3:

b)

£

What method did you use? Is there a different method you could

howve used?
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Multiply fractions by integers N © complete the calculations.

|
@ gx1=|7 h]%:l:%
1 xd= ?; 3 xd= | :l-_
o Complete the calculaotions. 3 3 4 i
a) %x 3= | %x i= 217_'
2.,
?xZ— B %,‘4:=-l-3 %14: ?J
1. e |12 3. |20
h} EHE‘— ll-l_:] E:E_;‘ELL
—t—t—t—t—f+—1+—t—+—1—1
0 1 %x 6= :]_, %x 6= l|_|‘l:
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ST What patterns do you notice? @
° Complete the multiplication.
o u‘.i'.-:«hﬂdethebﬂrnmdelstoshuw%unl @
2 i
- 2—x3= :}' =
111/ 0770 ’ -
l( F ’ r T T T T T T T T T T T T
/72 B |
Ir.'x:';:/%!{') Kf{’{//ﬁ; 'Ilr 1 1 1 1 1 1 1 1 1 1 1 1
1 1 1 1 1 1 1 1 1 1 1 1
! RV
) .,-'JJ."; / 'ff'r‘{llﬂ rf/;//}/j 1 1 1 1 1 1 1 1 1 1 1 1
1 | | | | | | | 1 1 | |
b) Complete the multiplication.
3 B1_173 Whaot method did you use? Is there a different method you could @
E"":E ) ll_:fj_. have used?
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o Match the calculations.

2 2
373
%:24

E:#
CHALLENGE :
QUESTIONS 23

%xﬁ

18 = —

%um

12 x —

%x#

o Write each answer as a mixed number in its simplest form.

a) 1%:2:

HE%HSZ

c) 2%:4:

d)z%:s:
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Txi—=
e) 7= >
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Fill in the missing numbers.

L., s

ﬂ} ETRBZE? b]2

|:|:-:3=?—

8 2

Tommy's dog eats 3 % tins of food a week.

How many tins does she eat in o year?

o
=)
Pl

B =

Jock builds a tower using grey blocks.

Alex builds a tower using red blocks.

The towers are exactly the same height.

How many blocks could they each hove used?

© Whita Aosa Moths 2013
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o Match the calculations.

18 = —

%:lﬂ

13 B 12 = —

- .-HI
s _.// \ T

e Write each answer as a mixed number in its simplest form.

=
)

2= 2. 5= 10
I:I]15n:2_ d}25:5_
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2 a’ 11 c 9
2=xd=| ¥ = —_ 7= —
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o Fill in the missing numisers.

a) z:a:ag b) 2

1

A 33:?3

o Tommy's dog eats 3 % tins of food a week.

How many tins does she eat in o year?

ol
+
P

b | =

Jack builds a tower using areu blocks.

Alex builds a tower using red blocks.

The towers are exactly the same height.

How many blocks could they each have used?

132

Jocte coutd une 15 ound Rlex we V8
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Tuesday 19t January

Multiply fractions by fractions
Watch the video link and answer the following questions
https://vimeo.com/476253821



https://vimeo.com/476253821

" - " l 2 - 1 1
Multiply fractions by fractions b) 3x3= 3 5
1
3
o Dexter works out % ® % using a grid method.
1
3
1 1
2 2
1
1 3
3
1
3
o a) Divide the square to show thﬂt%x%i&equultﬂl—ﬁz @
1
3
Explain how this shows 1,1 1
2 386

a Shade the diograms to show the fraction multiplications. 7 3., 1
b) Mummiuzsequaltu 2

Complete the multiplications.

1.1 1 1

a) %g" 7 Z Is Mo correct?
1 Explain your answer.
a4
1
a
1
a
1

4 & Whita Roga Moths 2019




The Answers Are On
The Next Slide .....

— | <WF



: : : 1.2 4] L 1 1
Multiply fractions by fractions b gx3=1_ | 2 7 7
L7
1 /
1T .1 . .
o Deﬂerworksoutixgunngugnd method. . }y/f
3
1 1
2 2
. 1
1 3
3
1
3
o a) Dmdeﬂ'lesqj.mretosl'lowth atZx3is url:lli:t::ri
NER 12
3 2

’ 175 0z
A Aty

YA,

. . 1.1
Explain how this shvl:rl.w.rs3 xX3=F

I

Sl ' h on s
L ,l i .
o 1]
SHreadad .
o sShade the diagrams to show the fraction multiplications. 2 3, 1
b) Mo says = x = is equal to —
Complete the multiplications. 3 4 2
AL I 1 1 vrs
u]2x4_ o 7 7 Is Mo correct? 00
Wr Explain your answer.
b g (JeTVTRY alenk o L
2 .

Ble B]a B e
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o Complete the calculations. o Calculate the area of the shapes.

a) 4
u]%x%: ﬂ]%x%: 5 m
1 1 2 5
b) 5 x5 = ) §xg= Zm
1 1 5. 5
S e 3 97xg"
1 1 1 _ 3 2 3 _
d]ixixﬁ_ h}ixaxﬁ_
Area = m? Area = m?
o Use the diagram to complete the calculations.
CHALLENGE
a) ln‘flz o Work out the area of the shaded part. @
QUESTIONS i .
= m
b) %0{1: ‘ ! »

¢} Whaot do you notice about your answers?

Talk to your partner.

O

e Fill in the missing numbers.

1 b) 1 I:I 2
(] i

e Fill in the missing numbers. @
[ ]

4 s

a) 1=

02

Pt | ==

1_

a) 0=
Whit
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o Complete the calculations. o Calculate the area of the shapes.

11 | 3.1 | = o Tm
ﬂ]zli— 1':‘ ﬂ]ili— 20 5

11 |- 2. 5_| L 2
B sxg=|1 sxg= 3 Sm

A 5 5 |15
V|s|=7%% DT*5=| ]

1.1 | 3,23 |1
d]ixinﬁ_:nb h}ixixﬁ_ T

2 g1
Area = ‘I—Elm2 Area = En"_'-m!
o Use the diogram to complete the calculotions.

a) Lofl= T ﬂ""’/f"'% o Work out the area of the shaded part.

304 || LT

=]
3

Xt MBS N par Ay Py AVATAPAY — 1

b sota=\ 2| "9 |74\ 729" | ¢ »

¢} What do you notice about your answers?

Talk to your partner.

O

e Fill in the missing numbers.

1 L.
5 3 15
q3

€ it in the missing numbers. @ Evl
0 M

a4 " s 2" a 5

1.1
u]ﬁ_zx

a) ‘II_D:

‘White
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Wednesday 20" January

Divide fractions by integers
Watch the video link and answer the following questions
https://vimeo.com/476254074



https://vimeo.com/476254074

o Complete the divisions.

Divide fractions by integers (1)

_4, 2,0 (.4
a) =52 b) 35 25
o' Use the diograms to help complete the calculations. _4 2 12 _3
10 25 7 T 25
a) c)
o . S 12 =2
1 1 1 1 1 1 E"’ E"’ —E
4 [ _L-z I:I-E—i
—+4= —+ 2= N U
5 5 10 25 25
b) d)
R
I I I I I 1
3 G
2 4+3= =4+ 3=
5 7

o Huan shares % of a litre of juice equally between 4 glosses.

How much juice is in eoch gloss?

QEEEE ’

Tkg
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Divide fractions by integers (1)

o Use the diagrams to help complete the caloulations.

q

a)

/=

b) d)

+J |aa

o Huan shares % of a litre of juice equally between 4 glasses.

How much juice is in each glass?

@EEEE

o Complete the divisions.

2l a 12 4
—_= X2 = % =
O =3 b) g5+ 0=
1| a 12 3
=== 4 = L=
EIED) 25 25
Ll a 12 2
==+ 4 — ==
00T 20 25 6 25
Ll_2 5 -5— 4
T 25 T T 5

b)

1 W oy

o |
=
1D
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o Mo works out 12 4 5 o a) Complete the calculation. Q

25
L =1

b} Find the missing numbers to make this division correct.

a) What mistake has Mo made?

-

8|

%

b) Draw diagrams to show why Mo is wrong. @

- ~\ o ' is a whole number. @
O is a fraction.

0 L, 1,
CHALLENGE v O

QUESTIONS A g

Talk about your answer with a partner. @ a) Find values for ' and O.

o Complete the calculations. Give your answers in their simplest form.

o, L1 L] 8., | V- O-
D 020 " s d g5+ 2= =
b) Whaot do you notice? Explain using diograms or words.
10 _I:I_ 24 o _
h’ﬁ'rz—_IE = ﬂ]5673— =
20 . _ _ = 21
:} ET4_ - ﬂ - —5673'

‘Whike
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o Mo works out % +5 o a) Complete the calculation.

&, _1
© b n

b} Find the missing numbers to make this division correct.

a) What mistake has Mo made?

He 'nman dovided Yo  donondnokor .

E.q. 24 . al|= a
3 20
b) Droaw diagrams to show why Mo is wrong. @
- ~ o ' is a whole number. @

O is a fraction.

diauui g NN AR AR

/] |
o |
E._ — 5 = '2"‘ 10 + 2= % % O
25 " 25 4
L. -
Talk about your answer with o partner. @ a) Find values for ' and O-

o Complete the calculations. Give your answers in their simplest form.

|
eq =[50 O-
PR 51 N e >0 s
0 °"""10 " s 57" g | =
b) What do you notice? Explain using diograms or words.
HETZZ: --l-'- HJE-}S: 8_ = .l'_.
15 15 3 56 = =]
20 ,_ 15| L S I i |
IRl e b L e il e

‘Wihite
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Thursday 21st January

Divide fractions by integers
Watch the video link and answer the following questions
https://vimeo.com/480707655



https://vimeo.com/480707655

O q o d) Draw a diagram to help you work out the answer to 4,3 2/
Divide fractions by integers (2) 5 P
- \
L v

o Complete the divisions using the diograms to help you.

a) —+2=

1
3

a) Write two things that are the same about the calculations.

1,3-
h}gfa_

2
=+ 3=
c) a

b) Write one thing that is different about the calculations.

o %af a kilogram of rice is divided equally between two bowls.

How much rice is in each bowl?

¢) Drow a diogram to help you work out the answer to % +2 @

©'%Whita Rosa Moths 2019
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Divide fractions by integers (2)

a) Write two things thot are the same about the calculations.

'L:"_,.{,'.\j. _T'rw_,l e boda  dunscenn
- | Ly

— o
Ungu Yoodn  conbtoae S

-

b) Write one thing that is different about the calculations.
"

-~

4

Draw a diagram to help you work out the answer to 2 + 3
d) g Py

5
s 2
P2 ZZZAF AT T
_&}JJWJ%I%[ Lo
I | E—
1
e SIS -
5 3 1S
L. A
o Complete the divisions using the diagrams to help you.
1 . N ¥ |
a) 3-.-2_ C Il |l
1 | i 1 | | ]
b —+3=|— ¥ i i
) 3 C:[ = 1 L ] I 1
z 2 1 1 F 1 ]
) —-+3=| [ f
} 3 C‘l Il L] ‘l.. II l ]
o %of a kilogram of rice is divided equally between two bowls.
How much rice is in each bowl?
- .
— e
3 J
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o Work out the divisions. o There are some cones in the PE shed.

Classes 1, 2 and 3 share them equally.
a) 1.7-= f) =2.12
5 -] * Class 1 put theirs into 4 equal piles.
* Class 2 put theirs into 5 equal piles.
b) =%1__3 al %+}.= # Class 3 put theirs into 11 equal piles.
What fraction of the whole number of cones is in each pile?
1 19 Fraction in eoch pile
c) I+9: h) :E+5
Class 1
_1, . 1. _ Class 2
d) =3 +6 i) —1001-25_
[ Class 3
4.5 ; =35,
CHALLENGE @ g+7= ) =50+ %0
QU ESTIONS o a) Which of these statements are true? Tick your answers. QJ
E+2isequalm%x% %+4:%:%
o Write <, = or = to complete each statement.
a) 1ss O 1is
: > l,3-1,1 Tes-1,1
2777273 27258
b) %+3 Q %1'-5 D D
3. 3,
c) E75 O 51-3

b) What do you notice?
Is it only true for halves?
Does it work for non-unit fractions?

Talk to a partner. @

‘Wihite

55
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o Work out the divisions. o There are some cones in the PE shed.

) c Classes 1, 2 and 3 share them equally.
a) Li7=| 7 H | H=2:12
5 as e + Class 1 put theirs into 4 equal piles.
* Class 2 put theirs into 5 equal piles.
| "E'T a ® "
b) E.zé{_a g) %1'-?: g:_ # Class 3 put theirs into 11 equal piles.
_ What fraction of the whole number of cones is in each pile?
1 o0 Fraction in each pile
c) 11'-9: oy h) ——-=E+5
4 36 oo 20 |
Class 1 e
|
AN _1, . 1, . Class 2 |5'
d) Ll_?fﬁ i) _1GDT25_1’:11 .
Class 3 ﬁ
4 ¥ . 91 as
—+ 7= ==+ 20
° 3 63 L P b

o a) Which of these statements are true? Tick your answers.

©

%+2i‘sequa.'m%x% %1'-4:%:%
o Write <, = or = to complete each statement. ;’f
u]l+5 1:3
3 5 1 1.1 1 1
—+3=—x— —+ 0 =—x_=
] 273 2 /'5
h]%%—S ®%+5 E/ Izr
3 3
=+5 =+3
5 @ 5

b) What do you notice?
Is it only true for halves?
Does it work for non-unit fractions?

Talk to a partner.

© %Whita Acsa Moths 2019




Friday 22nd January

Skills Check



A: Place Value, Add, Subtract, Multiply and Divide

B: Fractions, Ratio, Proportion and Algebra

C: Geometry, Position and Direction

61 57 6:24
1. Write in words: 11. Simplify this fraction fully: 8 21. Find the 8™
5,230,760 24 missing angle. 3 548
61 353 625
2. What is the value of the 1 in this 12. 2 3 R 9 _ 22. On the circle
5 =
number? 1,384,721 g 12 draw a line to
61 55
3. Round 8,523,912 to the nearest 13. 1. 2 - label the radius.
million. '
6:2 610 626
4. The temperature rises from -4°C to 14. What is the value of the 3 in this 23. Find the [ (@
12°C. How many degrees has it risen? number: 25.738 missing angle.
6:3 611 627
5. 2,26 x12 15. Give your answer as a decimal: 24. What are the co-ordinates of A?
15+4 'En
63 512 3
6. What is the remainder? 16. Write this decimal as
2,244+ 16 a fraction and a percentage. *
£ 513 '2
7. Write two common factors of 24 17. Find 15% of 360. 1
and 36. i B R
8. List the first{ be + 18. These sh " HEE
. Listt irst fi i . .
ist the first five prime numbers . e:f.le_f. apes 2:m[\ ?[\ 2
are similar. 3cm Eom 3
65 515
9. 15+4x8 19. There are p people on a bus. 5 get "4
on. Write an expression for this. -5
6:28
66 617

10. What is my change if | buy as many
£4.49 footballs as | can with £307

20. Which two numbers add together
to make 19 and have a difference of 37

25. Reflect triangle ABC in the y-axis.

Total (A)

Total (B)

Total (C)

Test Total (A+B+C)

R (0-9)

Y (10-19) G (20-25)
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A: Place Value, Add, Subtract, Multiply and Divide | B: Fractions, Ratio, Proportion and Algebra C: Geometry, Position and Direction
51 Fi illion, two hundred 6.7 .24
1. Write in words: anzjetm:t;ﬂ&ur;n:,nser;n 11. Simplify this fraction fully: 8 1 21. Find the GE 580
5,230,760 hundred and sixty 24 3 missing angle. 3 Tt
61 68 625
2. What is the value of the 1 in this 1,000,000 | 12. 2 3 . 9 3 22. On the circle
number? 1,384,721 (million) 8 12 3% | grawaline to Line
61 69
3. Round 8,523,912 to the nearest 13. 1 . _ 1 label the radius. drawn
- 9,000,000 — =+ 7 = 1 Le s
million. 8
62 610 626
4. The temperature rises from -4°C to 14. What is the value of the 3 in this 3 23. Find the [ (@
12°C. How many degrees has it risen? 16 number: 25.738 100 missing angle. 48
63 611 627
L. 2,246 %12 15. Give your answer as a decimal: 24. What are the co-ordinates of A?
26,952 - 3.75 ¥
15+4 '
63 612 _ Ll |
6. What is the remainder? 16. Write this decimal as 3 a
2,244+ 16 4 a fraction and a percentage. a 13% ' T T T 11
. &4 _ 613 RuYNEya
7. Write two common factors of 24 1,2,3, 17. Find 15% of 360. sa B ct (-4,3)
and 36. 4,6,12 £ 3 3 Tol 1 1 3 & 5%
b4 G-14 | |
8. List the first five prime numbers. 2,35, |18 T.he:f.e shapes 2cmr\~\ ?’\ aem 4
7,11 are similar. 3em Eom 3
65 615
a. 15+4x8 19. There are p people on a bus. 5 get ™
47 on. Write an expression for this. p+3 -5 678
& 617 . . .
10. What is my change if | buy as many 20. Which two numbers add together 25. Reflect triangle ABC in the y-axis. Shape
£4.49 footballs as | can with £30? £3.06 | {; make 19 and have a difference of 37 | 8 11 drawn
Total (A) Total (B) Total (C)
Test Total (A+B+C) R (0-9) Y (10-19) G (20-25)




